In the belly of the beast?
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What we hear is, “there will be an
shortage of natural gas” is that true?
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All-electric, District heating, central or

decentral heating, fuelcells ?
2050 everything sustainable
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Energiesystem en conversion
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What must we do ...

to maintain this on long-term?
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Equality between supply and demand, quantity and time
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Availability # Demand
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Research Remeha

Avalilability # Demand

de “0” on de meter house

Year Temperature (average / month)

® 20,0 °C-25,0°C
= 15,0 °C-20,0 °C
* 10,0 °C-15,0 °C
= 5,0°C-10,0°C
*0,0°C-5,0°C

*-5,0°C-0,0°C
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Research Remeha

Avalilability # Demand

de “0” on de meter house

Share PV Power to WP [kW]
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| 4,50-5,00
| 4,00-4,50
m| 3,50-4,00
m 3,00-3,50
| 2,50-3,00
m2,00-2,50
m1,50-2,00
®1,00-1,50
m0,50-1,00
2 0,00-0,50
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Avalilability # Demand

de “0” on de meter house

Results in numbers

Less than of electricity required For the heat pump comes
from PV

CO2 emissions from electricity? If there is no PV is:

For comparison :

CO, emissions in application HR boiler :
less need for "compensation Heatpump"

remeha.nl



Research Remeha

Availability # Demand

“0” on the meter - Total electricity users in the home

Electricity demand by user(2500kWh max) + (heatpump = production by PV [kW] )
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Hours of the day " Months
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What must we do ...

1?




1) Coming up of all—electric houses. Institute for Business Research. Enexis

electrical infrastructure b

Electrical Infrastructure five times heavier

Net 45% more expensive (regular E- en G-net)
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What must We do
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of the current buildings in 2050

(actual)






